
        
 

 

 

 

 

 

 
Ctl: Nucleation mode SO4 burden (kg m-2)

 Mean = 2.80244e-08
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Exp: Nucleation mode SO4 burden (kg m-2)
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Ctl: Nucleation mode OC burden (kg m-2)
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Ctl: Aitken (sol) mode SO4 burden (kg m-2)

 Mean = 1.10918e-06
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Exp: Aitken (sol) mode SO4 burden (kg m-2)
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Ctl: Aitken (sol) mode BC burden (kg m-2)

 Mean = 5.68629e-08
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Ctl: Aitken (sol) mode OC burden (kg m-2)

 Mean = 4.16486e-07
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Ctl: Aitken (insol) mode BC burden (kg m-2)

 Mean = 4.20006e-08
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Exp: Aitken (insol) mode BC burden (kg m-2)
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Ctl: Aitken (insol) mode OC burden (kg m-2)
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Ctl: Accum-mode SO4 burden (kg m-2)

 Mean = 2.90179e-06
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Exp: Accum-mode SO4 burden (kg m-2)
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Ctl: Accum-mode BC burden (kg m-2)
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Ctl: Accum-mode OC burden (kg m-2)

 Mean = 5.36632e-07
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Exp: Accum-mode OC burden (kg m-2)
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Ctl: Accum-mode SS burden (kg m-2)

 Mean = 1.95538e-07
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Ctl: Coarse mode SO4 burden (kg m-2)

 Mean = 5.87406e-08
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Ctl: Coarse mode BC burden (kg m-2)
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Ctl: Coarse mode OC burden (kg m-2)
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Ctl: Coarse mode SS burden (kg m-2)

 Mean = 2.11493e-05
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Exp: Coarse mode SS burden (kg m-2)

 Mean = 2.43332e-05

0 1e-52e-53e-54e-55e-56e-57e-58e-59e-51e-4



0 5.0•10-11 1.0•10-10 1.5•10-10 2.0•10-10

SU coarse mode m.m.r.

0

10

20

30

40
H

ei
gh

t (
km

)

Ctl
Exp

0 2•10-13 4•10-13 6•10-13 8•10-13 1•10-12

BC coarse mode m.m.r.

0

10

20

30

40

H
ei

gh
t (

km
)

Ctl
Exp

0 5.0•10-12 1.0•10-11 1.5•10-11 2.0•10-11

OC coarse mode m.m.r.

0

10

20

30

40

H
ei

gh
t (

km
)

Ctl
Exp

0 5.0•10-9 1.0•10-8 1.5•10-8 2.0•10-8

SS coarse mode m.m.r.

0

10

20

30

40

H
ei

gh
t (

km
)

Ctl
Exp



90S45S045N90N
Latitude

0

5000

10000

15000

20000

E
ta

 (
hy

br
id

 h
ei

gh
t)

Ctl: Nucleation mode number (cm-3)

 

0 4000 8000 1.2e+4 1.6e+4 2e+4

90S45S045N90N
Latitude

0

5000

10000

15000

20000

E
ta

 (
hy

br
id

 h
ei

gh
t)

Exp: Nucleation mode number (cm-3)

 

0 4000 8000 1.2e+4 1.6e+4 2e+4

90S45S045N90N
Latitude

0

5000

10000

15000

20000

E
ta

 (
hy

br
id

 h
ei

gh
t)

Ctl: Aitken (sol) mode number (cm-3)
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Exp: Aitken (sol) mode number (cm-3)
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Ctl: Aitken (insol) mode number (cm-3)
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Ctl: MODE CDNC at cloud top (cm-3)

 Mean = 120.860
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Exp: MODE CDNC at cloud top (cm-3)
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